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QUESTION 1

You want to deploy a VPN that will connect branch locations to the main office. You will eventually add additional branch
locations to the topology, and you must avoid additional configuration on the hub when those sites are added.

In this scenario, which VPN solution would you recommend?
A. Site-to-Site VPN

B. Hub-and-Spoke VPN

C. AutoVPN

D. Group VPN

Correct Answer: C

Reference: https://www.juniper.net/assets/us/en/local/pdf/solutionbriefs/3510477-en.pdf

QUESTION 2

You are designing an Internet security gateway (ISG) for your company and are considering a centralized versus a
distributed model for ISGs.

Which two statements are correct in this scenario? (Choose two.)

A. Distributed ISGs typically have less latency compared to centralized ISGs
B. Distributed ISGs reduce bandwidth for end users

C. Distributed ISGs typically require extra bandwidth for management

D. Distributed ISGs are harder to manage compared to centralized ISGs

Correct Answer:. AD

QUESTION 3

You will be managing 1000 SRX Series devices. Each SRX Series device requires basic source NAT to access the
Internet.

Which product should you use to manage these NAT rules on the SRX Series devices?
A. Security Director

B. CSO

C. Contrail

D. JSA
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Correct Answer: A

QUESTION 4

Policy Enforcer provides which benefit?

A. log management

B. command and control protection

C. centralized management of security devices
D. IPsec encryption

Correct Answer: C

QUESTION 5

You have a campus location with multiple WAN links. You want to specify the primary link used for your VolP traffic.
In this scenario, which type of WAN load balancing would you use?

A. BGP

B. OSPF

C. FBF

D. ECMP

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-applicationadvanced-policy-
based-routing.html
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